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L‘“‘—.ﬂ_@!ﬁ The angle of depression of a buoy from the top of the Barnegat Bay

of the water is 6°. Find the distance x from the base of the lighthouse 1o the buoy.

o
Example5 From the top of a 100-ft building a man observes a moving car. If the angle of depressio

e
from 22° 1o 46° during the period of observation, how far does the car travel? Is the car moving 1

the building?
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Example6 A large, helium-filled penguin is awaiting the start of a parade. Two cables attached to the underside of the
penguin make angles of 48° and 40° with the ground (see diagram). If the cables are atached 10 the ground

10 feet from each other, how high above the ground is the penguin? X
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Total s 1500 Tan(15) £ 350

Atax 691.9
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